
5) Vypočítejte: 

 a) 70.0,13 + 0,004.104 = 

 b) 3.24 - 4.0,52 = 

 c) (0,3.5 – 17:10)3 = 

 d) 2.103 + 7.104 = 

 e) 0,14 + 0,23 = 

 f) (25 - 2.17)4 = 

 h) 100 . 0,34 + 5.√0,64 = 

 i) √24 + 32 − 17 = 

 j) (7. 32 - 26)9 =  

6) Vypočítejte: 

 a) 204 - 105 = 

 b) 0,13 - 0,14 = 

 c) (35 – 162)2 = 

 d) 203 : 104 = 

 e) 7 500 . 0,14 = 

 f) (210 - 103):23 = 

 h) 0,32 + 0,23  = 

 i) √34 − 17 − 23 = 

 j) (6 - 42)5 =  

 7) Vypočítejte: 

 a) 
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)
3
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f) 
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 = 

 g) 
3
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)
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= 

 

  



 

      

 

 

 

 


